C:# Division von ganzen Zahlen

Name:
L 6se jede Aufgabe. Antworten
1) 406:3 = 2) 696:3=
- 1
2.
3.
3 90:2= 4) 54:2= 4
5.
6.
7.
5 696:8 = 6) 26:4=
8.
9.
10.
7) 63:8= 8) 504:7 =
- - 11.
12.
9 2085 = 10) 52:2 =
11) 605:7 = 12) 256:8 =
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Mathe ] www.CommonCoreSheets.de 111121 8] 0




=

Division von ganzen Zahlen Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 406:3= 135r1 2) 696:3= 232 13511
- - 1.
2 232
3. 45
3 90:2= 45 4 54:2= 27 a 27
5, 87
6. 6r2
7. 7r7
5 696:8= 87 6) 26:4= 612
8 12
9. 59r3
10. 26
) 63:8= 717 8 504:7= 72 . 8613
12, 32
9 2985= 5913 10) 52.2= 26
11) 605:7= 8613 12) 256:8= 32
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
[ Mathe ] www.CommonCoreSheets.de 1 111121 8] 0




